Table S1. Robust features in the CT and PET datasets.

Modality Filter Radiomic class Radiomic feature BCR1 BCRO P
CT original firstorder ~ 10Percentile 0.00 + 0.00 2378 + 16190 0.017
CT original firstorder =~ Maximum 258.77 + 30393 57936 =+ 570.79 0.010
CT original firstorder =~ Mean 3430 + 13873 13122 + 24421 0.020
CT original firstorder = Median 3146 + 14151 135.68 + 24846 0.028
CT original glem Correlation 063 + 014 055 + 010 0.039
CT original glszm SizeZoneNonUniformityNormalized 027 = 0.09 033 = 009 0.046
CT original glszm SmallAreaEmphasis 051 + 010 058 + 0.09 0.045
CT wavelet-LHL firstorder ~ Skewness 002 =+ 037 -089 £+ 189 0.029
CT wavelet-LHL glem ClusterShade -1590 +  81.08 -47.67 + 8647  0.014
CT wavelet-LHH firstorder =~ Maximum 5534 + 34.61 83.18 + 5337  0.037
CT wavelet-LHH ngtdm Busyness 1070 +  8.01 720 £ 984 0.042
CT wavelet-LHH ngtdm Strength 012 =+ 017 028 = 026 0.037
CT wavelet-HLL gldm LargeDependenceLowGrayLevelEmphasis 458 £  3.68 213 £ 238 0.039
CT wavelet-HLL gldm LowGrayLevelEmphasis 0.08 + 0.05 004 =+ 0.03 0.035
CT wavelet-HLL glrlm LongRunLowGrayLevelEmphasis 016 + 012 008 + 0.08 0.029
CT wavelet-HLL glrlm LowGrayLevelRunEmphasis 0.08 + 0.05 004 =+ 0.04 0.037
CT wavelet-HLL glrlm ShortRunLowGrayLevelEmphasis 006 + 0.04 003 + 0.03 0.045
CT wavelet-HHL firstorder ~ 10Percentile -1998 + 857 2289 + 757 0.037
CT wavelet-HHL firstorder =~ 90Percentile 1978 + 825 2462 + 954 0.023
CT wavelet-HHL firstorder ~ Entropy 149 =+ 041 171+ 038 0.019
CT wavelet-HHL firstorder =~ MeanAbsoluteDeviation 1262 + 533 1507 + 530 0.029
CT wavelet-HHL firstorder = Mean 003 + 030 032 + 048 0.023
CT wavelet-HHL firstorder  Range 11873 =+ 7742 17390 =+ 139.16 0.047
CT wavelet-HHL firstorder =~ RootMeanSquared 1626 + 743 2007 =+ 7.08 0.014
CT wavelet-HHL firstorder ~ Uniformity 041 + 0.08 037 + 0.08 0.020
CT wavelet-HHL firstorder ~ Variance 317.85 =+ 368.01  448.06 =+ 34445 0.014
CT wavelet-HHL glem ClusterProminence 1577 + 4743 2327 + 30.76  0.007
CT wavelet-HHL glem ClusterTendency 125 =+ 143 1.63 + 114 0.011
CT wavelet-HHL glem Contrast 115 + 111 150 + 091 0.012
CT wavelet-HHL glem DifferenceAverage 072 = 027 084 =+ 025 0.020
CT wavelet-HHL glem DifferenceEntropy 137 + 031 154 + 028 0.015
CT wavelet-HHL glem DifferenceVariance 054 + 049 071 + 042 0.012
CT wavelet-HHL glem Id 069 £ 006 066 = 0.06 0.025
CT wavelet-HHL glem Idm 068 + 007 064 = 0.07 0.023
CT wavelet-HHL glem JointEnergy 018 + 0.06 015 + 0.5 0.027
CT wavelet-HHL glem JointEntropy 289 + 078 328 + 070 0.020
CT wavelet-HHL glem SumEntropy 196 + 043 218 = 040 0.018
CT wavelet-HHL glem SumSquares 059 =+ 061 082 + 057 0.009
CT wavelet-HHL gldm GrayLevelVariance 060 =+ 059 080 =+ 054 0.012
CT wavelet-HHL gldm HighGrayLevelEmphasis 13.14 + 1237 2993 + 51.62  0.020
CT wavelet-HHL gldm SmallDependenceHighGrayLevelEmphasis 1.04 =+ 137 226 = 319 0.039
CT wavelet-HHL glrlm GrayLevelNonUniformityNormalized 039 + 0.08 034 + 007 0.019
CT wavelet-HHL glrlm GrayLevelVariance 068 + 065 093 =+ 061 0.012
CT wavelet-HHL glrlm HighGrayLevelRunEmphasis 13.19 + 12.39 30.06 =+ 51.69 0.013
CT wavelet-HHL glrlm ShortRunHighGrayLevelEmphasis 1035 + 1034 2293 + 3753 0.035
CT wavelet-HHL glszm HighGrayLevelZoneEmphasis 1487 + 1353 3282 + 5320 0.027
CT wavelet-HHL glszm LargeAreaLowGrayLevelEmphasis 159721 + 323670 45634 =+ 68725 0.019
CT wavelet-HHL glszm ZonePercentage 005 + 0.02 008 £ 0.04 0.031
CT wavelet-HHL ngtdm Busyness 1340 =+ 19.65 628 £ 6.78 0.047
CT wavelet-HHL ngtdm Strength 011 =+ 014 026 £ 026 0.047
CT wavelet-HHH firstorder =~ 90Percentile 917 + 257 1144 + 407 0.023
CT wavelet-HHH firstorder  InterquartileRange 944 + 248 1185 + 422 0.033
CT wavelet-HHH firstorder =~ MeanAbsoluteDeviation 584 =+ 171 718 262 0.033
CT wavelet-HHH firstorder =~ Minimum -29.54 + 2847 -36.66 = 1992 0.022
CT wavelet-HHH firstorder =~ RobustMeanAbsoluteDeviation 397 + 103 492 = 178 0.042
CT wavelet-HHH firstorder =~ RootMeanSquared 757 + 274 921 + 333 0.022
CT wavelet-HHH firstorder ~ Variance 64.57 + 55.88 9482 + 7558  0.022
CT wavelet-HHH glem Contrast 056 + 014 060 + 0.16 0.039
CT wavelet-HHH glem DifferenceAverage 053 + 0.04 055 =+ 0.07 0.031
CT wavelet-HHH glem Id 074 £ 001 073 = 0.02 0.037
CT wavelet-HHH glem Idm 074 £ 001 073 + 003 0.033
CT wavelet-HHH glem Imcl -001  +  0.02 -002 = 001 0.014



CT wavelet-HHH glem Imc2 014 =+ 0.08 017 = 0.06 0.014

CT wavelet-HHH glem JointAverage 198 + 1.28 232 £ 1.08 0.045

CT wavelet-HHH glem MCC 013 =+ 012 017 =+ 011 0.020

CT wavelet-HHH gldm HighGrayLevelEmphasis 579 + 1205 675 £  6.06 0.039

CT wavelet-HHH glszm GrayLevelNonUniformityNormalized 045 + 0.09 038 = 012 0.049

CT wavelet-HHH ngtdm Busyness 9356 = 6848 71.08 = 11711 0.035

CT wavelet-HHH ngtdm Strength 003 + 010 005 + 0.05 0.037

CT wavelet-LLL firstorder ~ 10Percentile -158.23 = 227.92 90.67 = 47814 0.015

CT wavelet-LLL firstorder =~ Maximum 67783 + 803.43 1367.08 =+ 1356.37 0.035

CT wavelet-LLL firstorder =~ Mean 96.02 + 39233 36867 = 68872 0.023

CT wavelet-LLL firstorder  Median 89.14 + 40159 37927 =+ 70347 0.033
PET wavelet-LLH firstorder =~ MeanAbsoluteDeviation 134 =+ 231 1.83 + 1.60 0.039
PET wavelet-LHL firstorder =~ RootMeanSquared 1.01 = 0.69 372 £ 330 0.035
PET wavelet-LHH firstorder =~ 90Percentile 218 = 226 117+ 157 0.025
PET wavelet-LHH firstorder  InterquartileRange 048 + 045 076 = 0.69 0.019
PET wavelet-LHH firstorder =~ MeanAbsoluteDeviation 041 + 033 058 + 0.58 0.037
PET wavelet-LHH firstorder =~ RootMeanSquared 030 =+ 027 078 =+ 087 0.045
PET wavelet-LHH firstorder  Variance 040 + 038 126 =+ 3.02 0.042
PET wavelet-HLL firstorder =~ Median 030 =+ 072 093 + 125 0.037
PET wavelet-HLH glem Contrast 026 + 1.04 041 =+ 015 0.016
PET wavelet-HLH glem DifferenceAverage 051 + 0.08 041 =+ 015 0.016
PET wavelet-HLH glem Id 051 + 0.08 080 =+ 0.08 0.016
PET wavelet-HLH glem Idm 075 + 0.04 080 + 0.08 0.016
PET wavelet-HLH glem Idmn 075 + 0.04 092 + 0.3 0.016
PET wavelet-HLH glem Idn 090 + 0.02 086 + 0.05 0.016
PET wavelet-HLH glem InverseVariance 083 + 0.03 041 =+ 015 0.016
PET wavelet-HLH ngtdm Complexity 051 + 0.08 039 =+ 015 0.020
PET wavelet-HLH ngtdm Contrast 048 + 0.08 0.09 =+ 0.04 0.022
PET wavelet-HHL firstorder =~ MeanAbsoluteDeviation 012 + 0.02 113+ 126 0.027
PET wavelet-HHL firstorder ~ RootMeanSquared 060 + 0.63 155 + 192 0.033
PET wavelet-HHL firstorder ~ Variance 081 =+ 101 573 £ 1533  0.035
PET wavelet-HHH firstorder =~ Median 160 + 571 0.04 = 0.09 0.014
PET wavelet-HHH firstorder ~ Skewness 000 =+ 0.3 -0.73 £ 094 0.027
PET wavelet-HHH glem JointAverage 0.01 + 0.63 156 + 0.07 0.027
PET wavelet-LLL glem ClusterShade 149 =+ 011 0.06 =+ 0.08 0.026
PET wavelet-LLL glem Correlation -001  +  0.09 053 £+ 051 0.033
PET wavelet-LLL glem MCC 082 + 033 057 = 042 0.028
PET wavelet-LLL glszm HighGrayLevelZoneEmphasis 082 + 031 206 £+ 119 0.045
PET wavelet-LLL glszm LowGrayLevelZoneEmphasis 140 <+ 081 077 = 023 0.045
PET wavelet-LLL glszm SizeZoneNonUniformityNormalized 091 =+ 016 070 £ 030 0.037
PET wavelet-LLL glszm SmallAreaEmphasis 088 + 024 004 =+ 0.04 0.019
PET wavelet-LLL glszm SmallAreaHighGrayLevelEmphasis 002 + 0.06 014 + 022 0.008
PET wavelet-LLL glszm ZoneVariance 002 + 0.06 20143 + 499.23 0.038
PET wavelet-LLL ngtdm Strength 39.50 =+ 116.25 016 = 0.20 0.036




